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e Theory of Translation-Lecture 11
e Linguistic Problems in Arabic/English
Ay ey [ Ay padl 4yl JSLES) o
e Translation-Part 1 - Lexical Problems
doanzall JSLERN - 1 e 3alldea i @

e Main Categories of Translation Problems
dan i) JShiial A ) i) o

1.Linguistic problems: 2.Cultural problems: cover a large
cover problems at range of categories such as
lexical, grammatical Ecology, materials, social
and Textual levels organization, religion, History,

3 JSLia 14 galll JSLL) etc...
65l cdsannall Gl gl | Ll (e dasl 5 Ao gana oz ASE] GO

L;‘“‘ﬂ‘} chLAAA\z’\ ﬁﬁﬂ\jcd\ﬂ\jcw\ el:; Jia
Cj\cc_uu\‘éqbﬂ\

e Translation Problems at Morpheme Level

A morpheme is “the minimal formal | Some morphemes have
element of meaning in language, as | grammatical functions such
distinct from ‘word™. as marking plurality
el Y asll aie" o Morpheme | (funds), gender
ALl e Ll ) et ARl 8 el (manageress) and tense
Take the following English example: | considered).
‘inconceivable’ is written as one Jie 4y paill 48 puall Cailla gl (any

word but consists of three osiadl 5e(J) sal)anda 5 5 dga2etl)
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morphemes; in, meaning, ‘not’,
conceive meaning ‘think of or
imagine’, and able meaning ‘able to
be’, fit to be’. ;
" 5 peal Sy V" et S i) 341
(o 05ST Bas) 5l ALK (K05 e g LS
(F2a ) guad % ¢ \&} cé c‘\_ﬁ).au)u
ui L.A‘c BJJ\A "JJ\A L;I:.Aj M J}a.\j\ ji ).\Ssﬂ\'
OS8O a5
A suitable paraphrase for
inconceivable would then be ‘cannot
be conceived /imagined’.
33 58 O sl a Aplie A lua sile
MabAS [ o seal (S Y™
Another example in Arabic:

A cy ) Y QUKD elllae 1" s ) JB "
The Arabic morpheme Al is a very
complex one which causes a very
serious translation problem in form
and meaning.

U @l ¢ Jas ol JE" Ay jall 8 AT Jlie
s Bains gy pell A peall ol Mad Y
Al dan i (8 el s phad AlSSe Caany
el 5

(orsie aiad 5¢(B_na)
Others change the class of
the word, for instance from
verb to adjective (like:
likable), negation
(unhappy), etc...
i Slo AalSl 43 | 5 5 o5 53]
1) dsall ) Jadll e JU)
S (3 ) A (e
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e Translation Problems at Word Level
dalSl) 5 glna L;'" dan il JSLia @

e The word is “the smallest unit of language that can be used
by itself.”
AR R VINREG W VD E1 5 XENPREYON g S DN S (I
e The written word is “a sequence of letters with an
orthographic space on either side”.
"opilad) DS e 4Dl ddlie pe Jila )l (e ALl e 4 iS4l ALK o
e Non-equivalence at word level means that the target
language has no direct equivalent for a word which occurs in
the source text.
oo 3 lae Ledalay L Lol Gl Coagd) 43 () iad Al (5 sine A 58S a2c @
dvadl pai A Gl dals
e The type and level of difficulty in translation at this level
depends on the nature of non-equivalence.

e For example: Jiall Jow Ao

e Culture specific concepts which can be abstract or concrete
as in the following examples:
ANl ALY 8 LS A gala gl B3 e () 5S5 O (S Sl g Badaa ABE aalia o
e Abstract: (privacy) is a very English Concept. Speaker (of
the House of Common) has no equivalent in Arabic.
ol ((psend) alaa)aniall, 4y plaid o gehe e (b (Ana gadll) tdaDA)) o
Al A e Ll
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e |t is often translated as the ‘chairman’ which does not reflect
the role of the Speaker of the House of Commons as an
independent person who maintains authority and order in
Parliament.

ayandl Galaa Gty 550 0o e Y A Gast I s Gal¥) e S B aa i e

el all 8 alail) g ddalill e Jadlsy (e (adliS

e A concrete example is airing cupboard which is unknown
to Arabic speakers.

A el ARl ablll Cag e 8 sa- Y gal) adi Cun A galall AL5eY) 2 @

e Another example: Al Jue

e The source Language word is semantically complex. For
example a single word which consists of a single morpheme
can sometimes express a more complex set of meaning
than a whole sentence, for example in Arabic:

o Chfiall coa 4y y Y QUK @l ¢ QM s Al J

S (e (O sSH g Baad 5 Al (Say JUal) i e Lisal 328 jaias 431 4S o

e ALK Aaall (o eall 8 JaEad ST de ganal Glal 44 joall fe aal g
Criall (508 Ay Y QSIS ¢ M s A JE s el QB Qs

e Differences in form: there is often no equivalent in the
target language for a particular form in the source text.
JSal ddagiiaall dalll 8 88 a0 Y L) (e S 1 JKAEN 8 CNEAY) @
ouaall pai (g (pre
e Certain suffixes and prefixes which convey propositional
and other types of meaning in English often have no direct
equivalents in other languages: For example: (, retrievable,
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drinkable, greenish, etc..).
& A IS e AWyt 5 o) ) o) gl Jan il bl gdimall Gal sl e
¢ Leela siul) 1Bl Jua e g Al clad il il ¥ (sl (e 1S
(o @ pad¥) il dalla
e Arabic for instance has no ready-made mechanism for
producing such forms as they are often replaced by an
appropriate paraphrase; depending on the meaning they
convey (e.g. Retrievable as ‘can be retrieved’ and
drinkable as ‘suitable for drinking”.
o Oha Yl e S 8 -JISET Y Da s als A1 Leal Gl e yall @
LaS Lgela sad ~Jlio) Ll (ino o tdaidle e lia ale) (31 5k e Lellaiad
"l Lghada "laS il dalla g pla il GSay"

e Translation Problems above Word Level
YON(S( LgJSMAéJé:\A;Jﬂ\JSL&A °

e Lexical patterning can be divided into two main headings:
1.Collocation gl

2.ldioms and fixed expressions

e Collocation: il

e A collocation is a sequence of words or terms that co-
occur more often than would be expected by chance.

Ol e S B AS jLdal) clalhiaal) ol cilalsl) (e Al g2 aanil) o
Adaally L gla )\ Laa ST duaad g
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e ltis the tendency of certain words to co-occur regularly
In a given language, for example, the English verb ‘deliver
collocates with a number of nouns, for each of which Arabic
uses a different verb.

A bV Jadll Ollie Aigme 43 A AUl o) ya) 4S L] LS (ay olail o

Calide 28 A yadl aadiing e S5 colan] (e 220 pe Ay ) "arlus”
e The Arabic ‘dictionary equivalent’ of deliver is yusallim
yusallim s s 84w el " (Sl o galall " o

e English Arabic

e deliver a letter yusallimukhitaaban
e deliver aspeech/lecture vyulgi khutbatan

e deliver news yanqilu akhbaaran
e deliver a blow yuawjjihu darbatan
e deliver a verdict yusdiru  hukman

e deliver a baby tuwalliddu imra’atan

e ldioms and fixed expressions
ALl el g clathiaal) o

e Idioms and fixed expressions: are frozen patterns of
language which allow little or no variation in form and in
case of idioms, often carry meanings which cannot be
deduced from their individual components:

Y ol din CMEAY zeans 42l 3aane Jalail o AU el g ilallaadl) o
SV Al Sl Jasd e Wlle 5 ¢ ulaill Al 8 S 6 oDl
o 20 il L pealic e Lpadlaiinl
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e Idiom example: ‘bury the hatchet’ means ‘to become
friendly again after a disagreement or a quarrel’. ‘pass the
buck’ (refuse to accept responsibility for something)

JE" M5 oalie ol GO ey Al A5 el Jiay "aBaY) GBS ¢ allad) Mic o
(L et o Al g pmall 58 (i i) "Ad g pesal

e Fixed expression example: ‘as a matter of fact, all the
best and proverbs such as ‘practise what you preach and
waste not want not”

L ol A jlae "ia JUaY1 5 (508 5l JSc ) adl 5 LaS" i) juatll Dlic o
u 0 Y delals




